|. Write t+he correct weord. Leok at
the example.

1 a bag three .0AgS.......

2 acake POLN v . . octopus
3 a boy [ SRR ~ S pen
. B e - QT er— rubber
5 an apple L1 gre— g Tr— alligator
6 aqirl SOURN issivsinnii S slefion
7 abee BN oo . ¥ rorxni

8 awindow  NiN€ ......ocvee...e B s teacher
9 aball five...... 50 SR bag
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4. Select the correct option.
1 aman (6).Six men . Safot (10) it
2 adesk (3) three desks Yameise ()il
3 afish [ b O — S acharry (B) oo 0EL
4 awoman  (2) cccieceiiiiineens 9 atooth  (13) cccvvrviriinnrrannnns

5 a baby [, ) S ——— 10 aglass  (6) .roveeermescreeservsans:



